### BIDDER'S CHECKLIST

(Note: The purpose of this checklist is to serve as a reminder of major items to be addressed in submitting a bid and is not intended to be all inclusive. It does not alleviate the Bidder from the responsibility of becoming familiar with all aspects of the Contract Documents and proper completion and submission of his bid.)

1.	All Contract Documents thoroughly read and understood.	
2.	All blank spaces in Proposal filled in, using black ink.	
3.	Total and unit prices added correctly and attached Schedule of Values	
4.	Addenda acknowledged.	
5.	Subcontractors are named as indicated in the Proposal.	
6.	Experience record included.	
7.	Proposal signed by authorized officer.	[ · ]
8.	Bid Bond completed and executed, including power-of-attorney dated the same date as Bid Bond.	
9.	Bidder familiar with federal, state, and local laws, ordinances, rules and regulations affecting performance of the work.	M
10.	Bidder, if successful, able to obtain and/or demonstrate possession of required licenses and certificates within (10) ten calendar days after receiving a Notice of Award.	
11.	BID submitted intact with the volume entitled "Bidding Requirements" and "Contract Forms", 1 original, and 2 flash drives as stated in the invitation to bid.	
J2.	Bid Documents submitted in sealed envelope and addressed and labeled in conformance with the instructions in the Invitation to Bid.	[] 7
	Company Letter?	

Charles Perns

32

NOTE TO BIDDER: Use preferably BLACK ink for completing this Proposal form.

### **PROPOSAL**

To:

The City of Key West

Address:

3126 Flagler Street, Key West, Florida 33041

Project Title:

POLICE DEPARTMENT ROOF REPLACEMENT

PD 1409

Bidder's contact person for additional information on this Proposal:

Contact Name & Telephone #: \_(

Email Address: (2014)

### BIDDER'S DECLARATION AND UNDERSTANDING

The undersigned, hereinafter called the Bidder, declares that the only persons or parties interested in this Proposal are those named herein, that this Proposal is, in all respects, fair and without fraud, that it is made without collusion with any official of the Owner, and that the Proposal is made without any connection or collusion with any person submitting another Proposal on this Contract.

The Bidder further declares that he has carefully examined the Contract Documents for the construction of the project, that he has personally inspected the site, that he has satisfied himself as to the quantities involved, including materials and equipment, and conditions of work involved, including the fact that the description of the quantities of work and materials, as included herein, is brief and is intended only to indicate the general nature of the work and to identify the said quantities with the detailed requirements of the Contract Documents, and that this Proposal is made according to the provisions and under the terms of the Contract Documents, which Documents are hereby made a part of this Proposal.

### CONTRACT EXECUTION AND BONDS

The Bidder agrees that if this Proposal is accepted, he will, within 10 days, not including Sundays and legal holidays, after Notice of Award, sign the Contract in the form annexed hereto, and will at that time, deliver to the Owner examples of the Performance Bond and Payment Bond required herein, and evidence of holding required licenses and certificates, and will, to the extent of his Proposal, furnish all machinery, tools, apparatus, and other means of construction and do the work and furnish all the materials necessary to complete all work as specified or indicated in the Contract Documents.

### **CERTIFICATES OF INSURANCE**

Bidder agrees to furnish the Owner, before commencing the work under this Contract, the certificates of insurance as specified in these Documents.

### START OF CONSTRUCTION AND CONTRACT COMPLETION TIME

The Bidder further agrees to begin work within 14 calendar days after the date of the Notice to Proceed and to complete the project, in all respects within 75 calendar days after the date of the Notice to Proceed.

### LIQUIDATED DAMAGES

In the event the Bidder is awarded the Contract and shall fail to complete the work within the time limit or extended time limit agreed upon, as more particularly set forth in the Contract Documents, liquidated damages shall be paid to the Owner at the rate of \$1,000.00 per day for all work awarded until the work has been satisfactorily completed as provided by the Contract Documents. Sundays and legal holidays shall be excluded in determining days in default.

<u>ADDENDA</u>	~
The Bidder hereby acknowledges that he has received Addenda No'	15-GO
2001/04 / Iddenda 140 S.	

(Bidder shall insert No. of each Addendum received) and agrees that all addenda issued are hereby made part of the Contract Documents, and the Bidder further agrees that his Proposal(s) includes all impacts resulting from said addenda.

### SALES AND USE TAXES

The Bidder agrees that all federal, state, and local sales and use taxes are included in the stated bid prices for the work.

### **LUMP SUM ITEMS**

The Bidder further proposes to accept as full payment for the work proposed herein the amounts computed under the provisions of the Contract Documents and based on the following lump sum amounts. The Bidder agrees that the lump sum represent a true measure of the labor and materials required to perform the work, including all allowances for overhead and profit for each type and unit of work called for in these Contract Documents.

### TOTAL LUMP SUM BASE BID:

1	LS	\$ 349,840.85	
three Hunder Pa	vlymi	nethoused Eight He	Dollars & Eighy Face Cents
(an	nount writte	en in words)	Dollars & Eigly Pace Cents

The Bidder shall submit a Schedule of Values with the Proposal. It shall be broken down by trade and type of work and it shall be used as a basis for payment. The Bidder will be considered non-responsive if Schedule of Values is not included in Bid package.

List items to be performed by CONTRACTOR's own forces and the estimated total cost of these items. (Use additional sheets if necessary.)
(Roofing) Deno, Exce Dyuselphie
securefock. To Olean op. Austry
\$ 345.49586 by left

### **SUBCONTRACTORS**

The Bidder further proposes that the following subcontracting firms or businesses will be awarded subcontracts for the following portions of the work in the event that the Bidder is awarded the Contract:

Kristar Flect	ne		
Name  175 US 1  Street	, _ <i>[teyV[</i> City	State	, <u>33040</u> Zip
Name			
Street	City	State	;
Name			
Street	City	State	Zip
Name			
Street	City	State	 Zip

**SURETY** 

PD 1409

			_ whose address is
Street	City	State	Zip
<u>BIDDER</u>			
The name of the Bidder submitting this Proposa	al is		
Gary the Carponton		www.wiscongresses	_ doing business at
Street Smouth	City City	C/ State	33040 Zip
which is the address to which all communic Contract shall be sent.	cations concerned with	this Prop	oosal and with the
The names of the principal officers of the partnership, or of all persons interested in this P	corporation submitting coposal as principals are	ng this Pre as follow	roposal, or of the
Gary Burchfield	Dresidon	+	
3			
	***************************************	TO THE STATE OF TH	
	i		

### If Sole Proprietor or Partnership

IN WITNESS hereto the undersigned has set his (its) hand this \_\_\_\_\_ day of \_\_\_\_ 2015.

Title U

ature of Bidder

### If Corporation

(SEAL)

Cary the Carperfer

By

Title

Secretar

### EXPERIENCE OF BIDDER

The Bidder states that he is an experienced CONTRACTOR and has completed similar projects within the last 5 years.

(List similar projects, with types, names of OWNERs, construction costs, ENGINEERs, and references with phone numbers. Use additional sheets if necessary.

i)	La Concha Hotel (Some as your) Parting
AC	acost 1500000 acree Staturitis 16
	Bell HOVE 430 Darlol. Resourch
B	Niles Sales & Service Rooting ADD
	2500 North Roservelt Keywest
A	COS+\$275,000 CC
	365 396 2021
22	
19	
9	
8	

\*\*\*\*\*\*

### **FLORIDA BID BOND**

BOND NO
AMOUNT: \$
KNOW ALL MEN BY THESE PRESENTS, that
Gary Berreh Rield
hereinafter called the DDINICIDAL and
a corporation duly organized under the laws of the State of
a corporation duly organized under the laws of the State of
having its principal place of business at 2005 SmonAel
Key west in the State of Parida
and authorized to do business in the State of Florida, as SURETY, are held and firmly bound unto
hereinafter called the OBLIGEE, in the sum of
DOLLARS (\$) for the payment for which we bind ourselves.
our heirs, executors, administrators, successors, and assigns, jointly and severally, firmly by these
present.
THE CONDITION OF THIS BOND IS SUCH THAT:
WHEREAS, the PRINCIPAL is herewith submitting his or its Bid Proposal for the Police
Station Roof Replacement, said Bid Proposal, by reference thereto, being hereby made a part hereof.

WHEREAS, the PRINCIPAL contemplates submitting or has submitted a bid to the OBLIGEE for the furnishing of all labor, materials (except those to be specifically furnished by the CITY), equipment, machinery, tools, apparatus, means of transportation for, and the performance of the work covered in the Proposal and the detailed Specifications, entitled:

### POLICE STATION ROOF REPLACEMENT / PD 1409

WHEREAS, it was a condition precedent to the submission of said bid that a cashier's check, certified check, or bid bond in the amount of 5 percent of the base bid be submitted with said bid as a guarantee that the Bidder would, if awarded the Contract, enter into a written Contract with the CITY for the performance of said Contract, within 10 working days after written notice having been given of the award of the Contract.

NOW, THEREFORE, the conditions of this obligation are such that if the PRINCIPAL within 10 consecutive calendar days after written notice of such acceptance, enters into a written Contract with the OBLIGEE and furnishes the Performance and Payment Bonds, each in an amount equal to 100 percent of the base bid, satisfactory to the CITY, then this obligation shall be void; otherwise the sum herein stated shall be due and payable to the OBLIGEE and the Surety herein agrees to pay said sum immediately upon demand of the OBLIGEE in good and lawful money of the United States of America, as liquidated damages for failure thereof of said PRINCIPAL.

23

KWPD ROOF REPLACEMENT

BID BOND

PD 1409

### ANTI - KICKBACK AFFIDAVIT

STATE OF Florida	)
COUNTY OF Marroe	: SS

I, the undersigned hereby duly sworn, depose and say that no portion of the sum herein bid will be paid to any employees of the City of Key West as a commission, kickback, reward or gift, directly or indirectly by me or any member of my firm or by an officer of the corporation.

Ву:

NOTARY PUBLIC, State of foring at Large

My Commission Expires:

RAYMOND L. LOVELL
Notary Public - State of Florida
My Comm. Expires May 15, 2016
Commission # EE 194086
Bonded Through National Notary Assn.

\*\*\*\*\*

### SWORN STATEMENT UNDER SECTION 287.133(3)(A) FLORIDA STATUTES, ON PUBLIC ENTITY CRIMES

### THIS FORM MUST BE SIGNED IN THE PRESENCE OF A NOTARY PUBLIC OR OTHER OFFICER AUTHORIZED TO ADMINISTER OATHS.

1.	This sworn statement is submitted with Bid or Proposal for Lely Wes
	Police department (Roofing)
2.	This sworn statement is submitted by Course (Name of entity submitting sworn statement)
	whose business address is 860 Smonda
	les less + Pl 33640
	and (if applicable) its Federal Employer Identification Number (FEIN) is 65 67863
	Early the carpender
	(If the entity has no FEIN, include the Social Security Number of the individual
	signing this sworn statement
3.	My name is Bary Burchfield
	(Please print name of individual signing)
	and my relationship to the entity named above is president
4.	I understand that a "public entity crime" as defined in Paragraph 287.133(1)(g), <u>Florida Statutes</u> , means a violation of any state or federal law by a person with respect to and directly related to the transaction of business with any public entity or with an agency or political subdivision of any other state or with the United States, including but not limited to, any bid or contract for goods or services to be provided to any public or an agency or political subdivision of any other state or of the United States and involving antitrust, fraud, theft, bribery, collusion, racketeering, conspiracy, material misrepresentation.

nonjury trial, or entry of a plea of guilty or nolo contendere.

5. I understand that "convicted" or "conviction" as defined in Paragraph 287.133(1)(b), Florida Statutes, means a finding of guilt or a conviction of a public entity crime, with or without an adjudication guilt, in any federal or state trial court of record relating to charges brought by indictment information after July 1, 1989, as a result of a jury verdict,

- 6. I understand that an "affiliate" as defined in Paragraph 287.133(1)(a), Florida Statutes, means
  - a. A predecessor or successor of a person convicted of a public entity crime; or
  - b. An entity under the control of any natural person who is active in the management of the entity and who has been convicted of a public entity crime. The term "affiliate" includes those officers, directors, executives, partners, shareholders, employees, members, and agents who are active in the management of an affiliate. The ownership by one person of shares constituting controlling interest in another person, or a pooling of equipment or income among persons when not for fair market value under an arm's length agreement, shall be a prima facie case that one person controls another person. A person who knowingly enters into a joint venture with a person who has been convicted of a public entity crime in Florida during the preceding 36 months shall be considered an affiliate.
- 7. I understand that a "person" as defined in Paragraph 287.133(1)(8), Florida Statutes, means any natural person or entity organized under the laws of any state or of the United States with the legal power to enter into a binding contract and which bids or applies to bid on contracts for the provision of goods or services let by a public entity, or which otherwise transacts or applies to transact business with public entity. The term "person" includes those officers, directors, executives, partners, shareholders, employees, members, and agents who are active in management of an entity.
- 8. Based on information and belief, the statement which I have marked below is true in relation to the entity submitting this sworn statement. (Please indicate which statement applies).

Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989, AND (Please indicate which additional statement applies.)

There has been a proceeding concerning the conviction before a hearing of the State of Florida, Division of Administrative Hearings. The final order entered by the hearing officer did not place the person or affiliate on the convicted vendor list. (Please attach a copy of the final order.)

The person or affiliate was placed on the convicted vendor list. There has been a subsequent proceeding before a hearing officer of the State of

Florida, Division of Administrative Hearings. The final order entered by the hearing officer determined that it was in the public interest to remove the person or affiliate from the convicted vendor list. (Please attach a copy of the final order.)

The person or affiliate has not been put on the convicted vendor list. (Please describe any action taken by or pending with the Department of General Services.)

(Signature) 1/14/15
(Date)
STATE OF Florida
COUNTY OF Menroe
PERSONALLY APPEARED BEFORE ME, the undersigned authority,
(Name of individual signing) who, after first being sworn by me, affixed his/her
Signature in the space provided above on this 14 day of Vanutary , 2015.
My commission expires:    RAYMOND L. LOVELL

### **INDEMNIFICATION**

To the fullest extent permitted by law, the CONTRACTOR expressly agrees to indemnify and hold harmless the City of Key West, their officers, directors, agents, and employees (herein called the "indemnitees") from liabilities, damages, losses and costs, including, but not limited to, reasonable attorney's fees and court costs, such legal expenses to include costs incurred in establishing the indemnification and other rights agreed to in this Paragraph, to persons or property, to the extent caused by the negligence, recklessness, or intentional wrongful misconduct of the CONTRACTOR, its Subcontractors or persons employed or utilized by them in the performance of the Contract. Claims by indemnitees for indemnification shall be limited to the amount of CONTRACTOR's insurance or \$1 million per occurrence, whichever is greater. The parties acknowledge that the amount of the indemnity required hereunder bears a reasonable commercial relationship to the Contract and it is part of the project specifications or the bid documents, if any.

The indemnification obligations under the Contract shall not be restricted in any way by any limitation on the amount or type of damages, compensation, or benefits payable by or for the CONTRACTOR under workers' compensation acts, disability benefits acts, or other employee benefits acts, and shall extend to and include any actions brought by or in the name of any employee of the CONTRACTOR or of any third party to whom CONTRACTOR may subcontract a part or all of the Work. This indemnification shall continue beyond the date of completion of the work.

CONTRACTOR		
	Address Sanon lon key west !	el 3000
	Signature	
	Cary Barchield	
	Dræsi dent	
DATE:	L-14-15	

### LOCAL VENDOR CERTIFICATION PURSUANT TO CKW ORDINANCE 09-22 SECTION 2-798

The undersigned, as a duly authorized representative of the vendor listed herein, certifies to the best of his/her knowledge and belief, that the vendor meets the definition of a "Local Business." For purposes of this section, "local business" shall mean a business which:

- a. Principle address as registered with the FL Department of State located within 30 miles of the boundaries of the city, listed with the chief licensing official as having a business tax receipt with its principle address within 30 miles of the boundaries of the city for at least one year immediately prior to the issuance of the solicitation.
- b. Maintains a workforce of at least 50 percent of its employees from the city or within 30 miles of its boundaries.
- c. Having paid all current license taxes and any other fees due the city at least 24 hours prior to the publication of the call for bids or request for proposals.
  - Not a local vendor pursuant to Ordinance 09-22 Section 2-798
  - Qualifies as a local vendor pursuant to Ordinance 09-22 Section 2-798

If you qualify, please complete the following in support of the self-certification & submit copies of your County and City business licenses. Failure to provide the information requested will result in denial of certification as a local business.

Business Name (Sary the Carponter Phone: 305-292-076
Current Local Address: Son Simon Len Cert Fax: 305-302-03-05 (P.O Box numbers may not be used to establish status)
Length of time at this address: 5 years.  Date: 1-14-16
Signature of Authorized Representative
STATE OF Ploride COUNTY OF Mangue
The foregoing instrument was acknowledged before me this/4 day of
By Gary Burchfield President, of Gary the Carpenter Inc. (Name of officer or agent, title of officer or agent)  (Name of corporation acknowledging)
or has produced identification personally known as identification (Type of identification)  as identification
Return Completed form with Supporting documents to: City of Key West Purchasing  RAYMOND L. LOVELL  Notary Public - State of Florida My Comm. Expires May 15, 2016 Commission # EE 194086 Print, Type or Stamp Name of Notary Bonded Through National Notary Assn.  Title or Rank

### EQUAL BENEFITS FOR DOMESTIC PARTNERS AFFIDAVIT

STATE OF	)			
	: SS			
COUNTY OF	)			
I, the undersigned hereby duly swor provides benefits to domestic partne employees' spouses per City of Key	rn, depose and say there of its employees West Ordinance S	hat the firm of on the same basis ec. 2-799.	s as it provides bene	efits to
• ,		,		
3		Ву:		5
Sworn and subscribed before me thi	S			
Day of	, 2015.			
NOTARY PUBLIC, State of	at Large			
My Commission Expires:				

### **CONE OF SILENCE AFFIDAVIT**

<b>.</b>
STATE OF Florida )
STATE OF Florida ) : SS  COUNTY OF Many oe )
I the undersigned hereby duly sworn depose and say that all owner(s), partners, officers, directors,
employees and agents representing the firm of Carethe Carperter have read and
understand the limitations and procedures regarding communications concerning City of Key West
issued competitive solicitations pursuant to City of Key West Ordinance Section 2-773 Cone of
Sworn and subscribed before me this
Myst 1777
NOTARY PUBLIC, State of <u>Florida</u> at Large
My Commission Expires:  RAYMOND L. LOVELL  Notary Public - State of Florida  My Comm. Expires May 15, 2016  Commission # EE 194086  Bonded Through National Natary Asso.



### THE CITY OF KEY WEST

3140 Flagler Avenue Key West, FL 33040

### ADDENDUM NO. 1 – POLICE STATION ROOF REPLACEMENT ITB 15-001

This addendum is issued as supplemental information to the bid package for clarification of certain matters of both a general and a technical nature. The referenced bid package is hereby addended in accordance with the following items:

### **ITB Questions Submitted**

1. We attended the pre bid for this project and intend to bid the work but I'm a little confused by some of the requirements and forms. One of the forms was a Local Vendor Form that states the contractor must be within 30 miles of the boundaries of the city. Did I read that correct? Our branch is in Ft. Lauderdale but not within 30 miles.

### Yes, to receive local vendor preference you must live within 30 miles of Key West.

- 2. "The Bidder shall furnish documentation showing that he is in compliance with the licensing requirements of the provisions of Chapter 66 Section 87 of the Code of Ordinances of the City of Key West; within 10 days the following the Notice of Award and must demonstrate that he holds at a minimum, the following licenses & certificates;
- A. City of Key West Business Tax License Receipt
- B. A valid Certificate of Competency issued by the Chief Building Official of Key West, Florida."

We are a Certified State License Roofing Contractors and our Local Business Tax Receipt is from Miami Dade County. Please clarify if the above requirement applies or only the License Contractor requirement applies.

### Please see the email response from our Licensing department:

Since job exceeds 30 days in length, applicant will need to comply with Chapter 66 and obtain local business license – after they win the bid. Please ask contractor to contact my office.

All Bidders shall acknowledge receipt and acceptance of this Addendum No. 1 by submitting the addendum with their proposal. Proposals submitted without acknowledgement or without this Addendum may be considered non-responsive.

Signature

Name of Business

## Continuation Sheet

Project #: Key West Police department roof

Name: Gary the Carpenter 305-292-0261

800 Simonton Key West fl. 33040

Request #: \_\_\_\_\_\_\_\_0

Request Date: \_\_\_\_\_\_\_\_1/13/2015

Period To: 1/13/2015

Acceptance #:

A	B	C	D	H	H	Ð		Н	I
			Work Completed	mpleted	Materials	Total			
Cost Code	Description of Work	Scheduled Value	From Previous Application (D+E)	This Period	Presently Stored (Not in D or E)	Completed and Stored To Date (D+E+F)	% (G/C)	Balance to Finish (C - G)	Retainage
1	DEMO STUCCO EFIS	\$7,950.00	\$0.00	\$0.00	\$0.00	\$0.00	0.00%	\$0.00	\$0.00
2	2 Stucco CUM wall and painting	\$24,360.00				\$0.00	%00'0	\$0.00	\$0.00
3	3 DEMO ROOFING	\$25,080.00				\$0.00	0.00%	\$0.00	\$0.00
4	ROOFING GRACE, TPO, INS. FLASI	\$248,905.00				\$0.00	0.00%	\$0.00	\$0.00
5	5 DEMO CARPENTERY	\$3,300.00				\$0.00	0.00%	\$0.00	\$0.00
9	6 CARPENTERY	\$15,175.00				\$0.00	0.00%	\$0.00	\$0.00
7	7 ELECTRIC	\$4,345.00				\$0.00	0.00%	\$0.00	\$0.00
8	8 General conditions	\$20,725.85				\$0.00	0.00%	\$0.00	\$0.00
6	Original Contract Totals	\$349,840.85	\$0.00	\$0.00	\$0.00	\$0.00	0	\$0.00	\$0.00
	Selow	*Please note added unexecuted change orders to pay application will only delay payment	ed unexecuted c	hange orders to	o pay application	will only delay	payment		
1				\$0.00	\$0.00		#DIV/0!	\$0.00	\$0.00
2				\$0.00	\$0.00		#DIV/0!	\$0.00	\$0.00
3					\$0.00	\$0.00	#DIV/0!	\$0.00	\$0.00
4					\$0.00	\$0.00	#DIV/0!	\$0.00	\$0.00
5					\$0.00	\$0.00	#DIV/0!	\$0.00	\$0.00
9					\$0.00	\$0.00	#DIV/0!	\$0.00	\$0.00
7					\$0.00	\$0.00	#DIV/0!	\$0.00	\$0.00
	Total Change Orders	\$0.00	\$0.00	\$0.00	\$0.00	,	########	#VALUE!	#VALUE!
	FOTAL CONTRACT TO DATE	\$349,840.85	80.00	80.00	80.00	#VALUE!	######	#VALUE!	#VALUE!

Approval Date:

Supervosors Approval:

### CITY OF KEY WEST CERTIFICATE OF COMPETENCY

#3	154 THIS IS TO CERTIFY THAT
	Gary Burchfield
	is duly registered as a
-	Roofing Contractor
in conform	ity with the regulations of the City of Key West
Date Issued:	10/01/13 Exp. Date: 09/30/15
By: King	Varaple
	CHIEF BUILDING OFICIAL

# CITY OF KEY WEST, FLORIDA Business Tax Receipt

P.O. Box 1409, Key West, Florida 33040 (305) 809-3955 Holder must meet all City zoning and use provisions. This Document is a business tax receipt

CtlNbr: 0011795	OOFING Date: September 30, 2015				Oper: KEYNELD, J. 17201 DL Drawer: A	478
GARY THE CARPENTER / ROOFING 800 SIMONTON ST	15-00022431 CONTRACTOR - REG ROOFING September 24, 2014 Expiration Date: September 30, 2015	\$309.75	\$0.00	\$0.00	\$309.75	
Business Name Location Addr	Lic NBR/Class Issue Date:	License Fee	Add. Charges	Penalty	Total	Comments:

This document must be prominently displayed.

GARY THE CARPENTER / ROOFING

18 NOTNOMIS 008

BURCHFIELD, GARY

Trans date: 9/26/14

36533

\$369°.75

KEY WEST FL 33040





KEN LAWSON SECRETARY

# DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION DEPARTMENT OF BUSING BOARD CONSTRUCTION INDUSTRY LICENSING BOARD

The ROOFING CONTRACTOR Named below HAS REGISTERED FS. Under the provisions of Chapter 489 FS. Under the provisions of Chapter 489 FS. Expiration date: (INDIVIDUAL MUST MEET ALL LOCAL LICENSING IN ANY AREA) Expiration date: (INDIVIDUAL MUST MEET ALL CONTRACTING IN ANY AREA) REQUIREMENTS PRIOR TO CONTRACTING IN ANY AREA)

BURCHFIELD, GARY P GARY THE CARPENTER CONSTRUCTION INC GARY THE CARPENTER GARY THE CARPENTER S00 SIMONTON STREET FL 33040 KEY WEST

SEQ# L1305210000921 DISPLAY AS REQUIRED BY LAW ISSUED:

RICK SCOTT GOVERNOR

### **Gary the Carpenter**

800 Simonton Key West, FL33040 305-292-0261 CBC1250924

### Date Estimate # 1/12/2015 8 Customer Job Key vvst Police Department Roofing

**Estimate** 

### **Customer Information**

Key Wst Police Department William Horn 305-296-8302 Key West, FI 33040

Description	Qty	Rate	Amount
=======================================			The second secon
E.F.I.S foam on paripet wall			
=======================================			
Demo. Removal stucco ,foam profile			
Material, per SF	3,000	2.50	7,500.00
Equipment, per SF	3,000	0.15	450.00
STUUCO install. over top CUM wall with new flashing			
Material, per SF	3,000	2.00	6,000.00
Labor, per SF	3,000	3.53	10,590.00
Equipment, per SF	3,000	0.15	450.00
Painting. pain all new stucco			
Material, per LF	3,000	0.79	2,370.00
Labor, per LF	3,000	1.50	4,500.00
Equipment, per LF	3,000	0.15	450.00
* subtotal			32,310.00
=======================================			
ROOFING TPO			
=======================================			
Demo. Removal of built-up roofing			
Material, per SF	13,200	1.75	23,100.00
Equipment, per SF	13,200	0.15	1,980.00
Roofing. Ice and water shield membrane Grace	13,200	0.15	1,960.00
Material, per SF	13,200	1.50	19,800.00
Labor, per SF	13,200	1.28	16,896.00
Roofing. tapered insulation	10,200	1.20	10,090.00
Material, per SF	13,200	1.75	23,100.00
Labor, per SF	13,200	2.25	29,700.00
	10,200	2.23	29,700.00

### **Gary the Carpenter**

**Estimate** 

800 Simonton Key West, FL33040 305-292-0261 CBC1250924

Date	Estimate #	
1/12/2015	8	
Customer	Job	
Key vvst Police Department	Roofing	

Description	Qty	Rate	Amount
Roofing. TPO menbrane			
Material, per SF	13,200	2.50	33,000.00
Labor, per SF	13,200	3.00	39,600.00
Roofing. base sheeting secure lock	10,200	0.00	33,000.00
Material, per SF	13,200	1.00	13,200.00
Labor, per SF	13,200	1.28	16,896.00
Galvanized steel flashing. AC units, hatches and walls	10,200	1.20	10,030.00
Material, per LF	300	10.00	3,000.00
Labor, per LF	300	19.98	5,994.00
Roofing. Hardware fastener,glue		10.00	0,004.00
Material, per SF	13,200	0.50	6,600.00
Flashing parapet wall cap. install new	10,200	0.00	0,000.00
Material, per LF	550	35.00	19,250.00
Labor, per LF	550	6.53	3,591.50
Equipment, per LF	550	0.15	82.50
Flashing wall, roof drain. penitration. install new new pitch pockets		0.10	02.00
Material, per Ea	1,500	5.00	7,500.00
Labor, per Ea	1,500	6.98	10,470.00
Equipment, per Ea	1,500	0.15	225.00
	,,,,,,	0.10	220.00
* subtotal		,	273,985.00
=======================================			
CARPENTERY			
=======================================			
DEMO. 2x4 2x10		I	
Labor, per LF	4,400	0.75	3,300.00
Carpentery. install new 2x10 pt top of parapet wall			
Material, per LF	1,100	2.30	2,530.00
Labor, per LF	1,100	1.50	1,650.00
Equipment, per LF	1,100	0.15	165.00
Carpentery. install new 2x4 pt top of parapet wall			
Material, per LF	3,000	0.98	2,940.00
Labor, per LF	3,000	2.48	7,440.00
Equipment, per LF	3,000	0.15	450.00
* subtotal		631	18,475.00

**Estimate** 

800 Simonton Key West, FL33040	Da	ate	Estimate #
305-292-0261	1/12/	2015	8
CBC1250924	Cust	omer	Job
		t Police	Roofing
	Depa	rtment	
		8	
=======================================			
ELECTRIC lighting protection			
Electric. remove and renstall			
Material, per LF	1,100	2.30	2,530.00
Labor, per LF	1,100	1.50	1,650.00
Equipment, per LF	1,100	0.15	165.00
* subtotal			4,345.00
OFNEDAL CONDITIONS			
GENERAL CONDITIONS			
Building permit fees City of Key West			
Subcontract, per LS	1	325.00	325.00
Direct overhead Job Supervision		323.00	323.00
Labor, per M\$	120	37.40	4,488.00
Direct overhead Materials delivery	120	07.40	4,400.00
Labor, per M\$	40	37.40	1,496.00
Direct overhead Material handling		07.10	1,450.00
Labor, per M\$	41	37.40	1,533.40
Direct overhead Job site clean up and debris removal		0.,.0	1,000.10
Labor, per M\$	35	37.40	1,309.00
Direct overhead Wastmanagement			
Labor, per M\$	50	37.40	1,870.00
Direct overhead on site portra john 12 week			
Equipment, per M\$	12	120.00	1,440.00
Direct overhead fork lift/ man lift 12 weeks			
Equipment, per M\$	1	8,264.45	8,264.45
* subtotal			20,725.85

### **Estimate**

Gary the Carpenter

800 Simonton 805-292-0261 305-292-0261 CBC1250924

Roofing	Cey vvst Police
dol	Customer
8	1/12/2015
Estimate #	Date

		lstoT	349,840.85
Project Total			349,840.8
*Project Subtotal			349,840.8
Description	Qty	Rate	JunomA